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1. Explain the difference(s) between the GCF and LCM. Then, reflect on your own learning: how are you doing with identifying which one is which in word problems? What tips do you have for knowing which one you are being asked to find?  (Your response to the question should be very detailed! Please write in complete sentences and be ready to share in class.) _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. Find the LCM and GCF of 24 and 36.












3. Mrs. Tabery is buying supplies for root beer floats for the 6th grade. Each container of ice cream has 12 scoops. Each 2 liter bottle has 16 servings of soda. What is the fewest number of  containers of ice cream and bottles of soda she can buy so that she has one scoop of ice cream for each serving of root beer with none left over?



4. Mrs. Niles is making bookmarks out of ribbon. She is using 2 pieces of ribbon: one that is 36 inches long and one that is 45 inches long. If she wants all of the bookmarks to be the same length and she wants no ribbon left over, what is the longest size she could cut each bookmark to? How many bookmarks would she have?
   
